EEME

EEME

EIHER L=2, 347.5m
EEELT V=87, 300m3,
HkBEE  N=12%

EBEET  A=28,931m2,

570 AP BN y

2, i ) L~ W \ /,f

i | { (="

2251 i AN =
< L ‘/ S \\ \) i
7 { AININEAS L.

f ,\‘\ e it Mol
7 SE, g” ’ A -

B I EE AT E(ZD2) |

— &AL Bk R B
A& EFHERASN

@ EFAI FR29FSA

@ EFAI FR9FESA

L

@ FEFAEI FRR9FESA




EHAR T

TM24 98 sEmMLFEL,

D % B $H259H

Bz 3EM
FRUSER,

@ 5T R $FM259H

® 5& B §#M2459A

@ 58 B HM24£9A




FEURE

ZIHEE L=4580.3m
SEIERE+ V=20,800m3,

EEERET A=-18,832m2

5T BT E X

Py
/ /

H E L+ shIBfRo T 5 Ak

I? QI
(—? p J;‘v\-\f}

-
T .,.,Ofi — KAt Lk RSN
o ﬁ%\ REMHEFRBRMASN

@ EFE1 FR314£2A8

@ ZEFE1 FER3142A

@ FFm1 FR31%FE2AR

@ BEFHI FHEB1452H8




EHAR T

SMM2F£10 A8 SERKLELT-,

@ 5E B SFM2%F10A

@ 5 B §#2%10H

® 5 Bt §F24%E10AR

@ S Rt HFM2%F10A




